pla| 2'-8" | DN50-DN200 | ANSI 600

Floating Ball 3 Piece

Valve dimensions

Optional hybrid seat
U-shape

————— 2 Ball port

1

]

| Preparation
B for actuation
A

| A

(]

oWh-———o—— - — - —_ b HABONIM )
_ Stem groove
shows valve

ball position

TxL thread

FPCD Square

Std. port | Unit :::It (I:\F) (RI'.\rJ) B X vﬁ;‘ﬁgt

DN50 mm  51.00292.10/292.15/ 7500 87.50 134.00 17445 401.00165.10/ 1890/ 1590 114 |16.70 22.70| (F10) | 102.00 M10x12 14200 430
2" inch 201 1150 1162 295 344 528 687 1579 650 074 063 UNS2A | 066 089 4.02 3130/ 499
DN80 mm  80.00 3556035865 110.00 126,50 195.901 256.60 916.00/ 209.55| 2845/ 23.75 11412 12620 3520] (F12) | 125.00 M12x16 37.001 1000
3" inch| 315 1400 1412 433 498/ 771/ 1010 3606 825 112 094 UNF-2A | 103 139 492 8160/ 1160
DL mm  100.00431.80(434.85135.00/ 14240 211,901 273.00/916.00 273.05| 2845/ 23.75| 11412 12620 3520/ (F12) | 125.00 M12x18 5800/ 1830
4" inch| 394 1700 1712, 531 561/ 834 1075 3606 1075 112 094 UNF-2A | 103 139 492 12800 2123
DIRETES mm  150.00/558.80/561.85/190.00/ 194.00/307.00) - - 135560 3592/ 3592| m8 4000 4650 (F14) | 140.00 M16x18 126,00/ 4380
6" inch| 591 2200 2212 748/ 764 1209 - - 14000 141 141 UN-2A | 157 183 551 27800 5081
DI\PLES mm  200.00 6604066345/ 275.00] 2450040000, - - 141910 4590 4590/ 234" 50005500 (F16) | 165.00 M08 31400/ 8070
8" inch| 787 2600 2612 1083 965 1575 - - 1650/ 181 181 UN-2A | 197 217 6.50 69220 9361

' Due to high valve torque, pipe handle cannot be used. A manual gear or automation means should be used to operate the valve.

306 | KDHABOMM | GENERAL USE & INDUSTRIAL




pla| 2'-8" | DN50-DN200 | ANSI 600

Floating Ball 3 Piece

Components & materials

Item | Description Material specification Qty.
Body Acc. Ordering Code 1
Ends Acc. Ordering Code 2
Ball Acc. Ordering Code 1
Stem Acc. Ordering Code 1
Seat insert Acc. Ordering Code 2
Seat housing S. Steel 2
Seat seal Graphite, PTFE 2
Inner seal Graphite, PTFE 2
Stem thrust seal | PEEK, CF PEEK, PCTFE 1
Anti-abrasion ring | PEEK, CF PEEK, PCTFE 1
Stop pin S. Steel 1
Stem seal CF PTFE, TFM 1
Follower S. Steel 1

10,88 Slide bearing S. Steel 1

ST

16 14B 17

Preparation
for actuation

Item | Description Material specification

S. Steel 2
S. Steel 1
S. Steel 1
1
1
1
1

S. Steel
S. Steel
Wrench head S. Steel
Wrench bolt S. Steel
Sleeve PVC 1
Body bolts S. Steel 20-24-32
Anti-static spring | S. Steel 2
Anti-static plunger|S. Steel 2
Tag (not shown) |S. Steel 1

¥ Repair kit components
** Gear operator should be used for size 6" DN150 and above (handle components are
not included)

GENERAL USE & INDUSTRIAL | (EDHABONIM | 307




